EARAROBEEIERT — 2 N— IBISH —F

2012 7A7H (+) 2@+ =3H

N >53m *B7 U5l B

ESEE e

[A~&£] 1 7% 4,600,000 ~ 23 :1,800,000 . 337 :1,200,000 3 4 3 :690,000 " ~ 5 j&:460,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- - oo AR :04. -1-1- . — AHEE (ER)
1 6 BHIE Y TIN 4 3 &% N 2((21)3 1-1-1-1 | 38.5 1 (4354) REE
R:77%8¥ BewTSTFonN-vT HRSUHB A/ 77— L4
Sy s # 3 | K2 2:04.9 9-8-9-8 [38.2| — 4 472 | HEOIBLRER (RR)
215(10 JVEYT X3 56.0 (3 1/2) 6) | B) EARYS
L:7V>FFE271 BTV /AR EARKE
N 4t 3 | B2 2:05.2 2-2-2-2 [39.3| — 5 400 | BHERE (ER)
=N (B] 56.0 (1 3/4) -2 (#) ;,7 CZFE— R
VLK YTYRATIZ BRI AFY w77 — L
H—r5 # 3 | EBE= 2:05.3  [16-16-15-14| 87.0 | — | 3 | 426 |=EHEM (FF)
1 54.0 (3/4) 0 HEFE
R:T7TXEx%A4> B AN—F ST r—L
- - BERX :05. -11-10- . — HREEE (EXR)
ZhL— k5T it 3 552_0 2(,(35;? 10-11-10-8 | 38.6 11 ié;} ﬁ;&ﬁz:
R:T7TxAexAL B:F)-X> (B) HBEa-KL—-—a>aE77
IJR/I—2 # 3 ﬁﬁ% 2(7055;1 7-7-7-7 |38.8| — 9 go) ﬁggﬁ (FE=R)
R:ARTA MR B:AR/ BT e %
B - 4 3 | EoEE 2:05.4 4-5-4-5 [39.1| — 10 | 492 |EAEB— (BR)
TN~ 6.0 (757) (o |EERAILY
L:xrin140— B:ehlNI1ALy b (B) #BA3—-RKL—va>aE77
BEHF : 44— — HABE (FX)
Ny¥ RN 4 3 56.0% (22015/28) 4-4-4-4 | 39.7 6 (4_780) W;TJIE,EJJ
R:THINEry b BihuAL I —T VS &S
5 # 3 | BILUELF 2:05.9 16-17-16-15| 37.5 | — 12 | 420 |EHHL (EH)
XIXTAZYRY 54.0 (7€) o) | B #5TLy k575747
R:A-—TUXf x4 B:xMFxI—2y K EviLy RT7—L4
L HE_E 4t 3 | HrEmE 2:05.9 13-12-11-11{ 38.6 | — 14 | 412 |BAE (FF)
10l8l16| 7>¥—EY 21— 54.0 (7€) ©) |WAERT
L:FEY RT21Z27 BT 8—LAX JEL BB
N 4 3 | BEERRA 2:06.0 13-14-13-13| 38.1 | — 8 454 | BEFE (BH)
11 12 HFryal) 56.0 (1/2) (+18) | NEE—
R:8=Z/FXLLy b B:/% () #BA3—-RKL—va>aE77r
S = 4 3 | EPR 2:06.3 4-5-3-2 | 40.3| — 2 492 | HHEZ (ER)
1215 T—>~7~735> .0 (1 3/8) () | )
RN=Y7514 B:Hav)7H-I RAEW IS
S 3 | PREZ 2:07.4 8-8-11-12 [ 39.7 | — 16 | 440 |RERBK (ER)
1311 X1 >¥ava1x%NS 54.0 M (1 | At
A4 a3949 Ry B:x14>av70-3 SRk e
Sz # o3 | dtRR— 2:07.9 15-15-17-17{ 38.7 | — 15 | 490 |ZEFE (i)
14|59 | Y 7—RT7>7 56.0 3 (-6) | BIBFT
R A bk—n B:UT—FI>TL2R HESHE UT—F
cgx S > 3| BEM# 2:08.2 12-12-14-16{ 39.6 | — 17 | 438 |BREF (&ER)
15/ 8|18 AXHIZ 7 - 56.0 @ (-p) | KFHER
:aZ /XLy b BiXI/ BT K H&
S [ = ] 37~ - AEMN (FF)
w6kl 1a| 717 nF—n 4 3 e 2.(059).1 2-3-7-10 | 42.0 18 :(1)2) i A
L:70%tx B:LA- ST r—L
— b .= 4 3 | =X 2:09.2 10-10-6-5 | 42.8 | — 13 498 | HHEZ (ER)
17)/8[17| 7372 LT 5.0 (172 Gl | B Ho vz 7 EAkE
LT RIA VL= B:F4T7IT4F H—L—- T x> T7—LARS
o — N VK :10. —-18-18- . — BOBAKRER (FEXR)
18 3 e f=—axA> 4 3 36_0 2(190)7 18-18-18-18| 41.2 7 (5_160) e
R:TIRAZXAY B:RT)VTZT7— i e
@ 21 L
£y 50.9-38.5
NA> AL | 12.8-11.2-12.6-12.4-12.1-12.3-12.4-12.6-12.7-13.2
® I—F—&EBIERL
|S=7r= (x6,13,14) (4,5,15)-7-1,10(2,17)-18(12,16)9(8,11)-3
20—F— (¥6,13)14,4(5,15)-7-(1,10)17,2-(18,16)-12,9,11,8-3
G=7"= (%6,13)15(4,5)17(7,14)-10-2-(1,16)-12,18,11,8-9-3
41—F— 6(13,15)4(5,17)7(10,2)-14,16-1,12-11,8,18-9-3
[ RN
B Oj 6 250/ 794K 6-10 620M & 3-5 1,380 &R 6-10-13 7,180
# B 6 140/ 6-13 740 B E 6-10 1,420 EE 6-10-13 24,850
10 280M 10-13 3,000/ B H 6-10 2,230H
13 360M

ABICOVWTRDTEEERROODE. TR LIV,




